F			S VISIO	QUAN	UNIT	TOTAL
No.		DESCRIPTION	UNIT	TITY	PRICE	PRICE
1	Deisel (30	O liters) Izantin' ("an'i El man 2 alli de aniunen un'i siluta sal	liter	300	58.00	17,400.0
2	Gasoline ((180 liters)	liter	180	62.00	11,160.0
3	Drill bits m	asonry SDS 5mm (3/16") (10 pcs)	рс	10	100.00	1,000.0
4	Drill bits m	asonry SDS 6mm (1/4") (10 pcs)	рс	10	120.00	1,200.0
5	Drill bits m	asonry SDS 10mm (3/8") (10pcs)	рс	10	150.00	1,500.0
6		asonry Twist style for regular drills 5mm (3/16") (10pcs)	рс	10	90.00	900.0
7		asonry Twist style for regular drills 6mm (1/4") (10 pcs)	рс	10	110.00	1,100.0
8		asonry Twist style for regular drills 10mm (3/8") (10 pcs)	рс	10	140.00	1,400.0
9	specification		14972 1617	902 B9	BETTER	-
10	_	and high-carbon steel body for longevity	ideamos.	nariz s	Straigt	
		d, bright finish for precision and concentricity	4" 12E c	o dise	Cuttie	
1		drilling stainless steel, titanium, and other tough alloys	-	nileni	space	
1		pecial steel for top strength and extended tool life		1723.0	m DOE	
7		nk compatible with portable drills and drill presses	1 1 1		7.5	
		sc 4" (20 pcs)	рс	20	80.00	1,600.0
	specification		-			-
1		or occasionally 105 mm	THE PROPERTY OF	205,10	tamin	-
d		dard for small angle grinders)	i protigir	bel min	nizaivi	
1		om to ~2.5 mm (depending on use)	SOW SEE	BIOR 3	13-F16	-
7	_	pecification code: A 30 R BF, A 60 N BF	De sidi	TUG III	Mater	
Ť		peripheral (circumferential) speed, ~80 m/s	Not sile	Depti	cliffuol	
Ť		le Saw Set for Wood, Plastic, Metal, PVC, and Gypsum Board (2 set)	set	2	600.00	1,200.0
1		rable 50# Carbon Steel	3 delethal	-annits	allana	-
1	BANK THE STATE OF	th: Not specified	- Canada	-111	ongaesi outcoll	-
٠	-	19mm to 127mm	CHAUDSENIS.	0.70	HIERAL	-
1		: Suitable for wood, PVC, gypsum board, aluminum, and thin metal	17/2110		TELLINITI	-
1		gh-frequency hardened teeth for fast, stable drilling;	THE COLD	- 10	oneso	
t		angular handle compatible with various drills	र वृत्तीसाम	12.00	97157	
1		comes with a universal triangular handle for easy attachment	momisic	TUBS	14-22-27	
1		-month guarantee			mour	
Ť		Diamond Cutting Wheel 4" (Ultra Thin Turbo) (3 pcs)	рс	3	600.00	1,800.0
1	105mm	politica sent-ci	d bos is	ei oir	realfill	-
+	Max rpm: 1	5.200	ons minis	- anne	e sti31	
1		ast and chip-free cutting	O Day Color	Sunday.	AT BAC	1
Ť		16mm and 20mm	A LOCAL TO	2 3 3 3 3 3 3 3	2 240	-1.
T		Grip Cut-Resistant Glove CGM-CR (Size S) 10set	set	10	300.00	3,000.0
1		Grip Cut-Resistant Glove CGM-CR (Size M) 10set	set	10	300.00	3,000.0
T		Grip Cut-Resistant Glove CGM-CR (Size L) 10set	set	10	300.00	3,000.0
T		Ion fiber with ultra-high molecular weight polyethylene lining	II TUESCET	100.0	IN GELT	-
T		t-resistant, meets EN388 4544 and ANSI Cut Level 3 standards	in its arms	1671.10	Tigear	
Ť		ndling sharp materials, cable pulling, wire handling				
Ť		O , , , , , , , , , , , , , , ,				
		GRAND TOTAL				
		GRAND TOTAL				49,260.0

Parameters	Considered? (Yes/No/ Not Applicable)	Recommendations based on the Market Scoping (Attach additional documents if necessary)
b. Project Design and Specification [Does available supplier/s meet technical and financial requirements?]	Yes	
c. Technical Criteria [Does the market support the proposed technical requirements?]	Yes	
d. Delivery Lead Time [Are the timelines for delivery feasible?]	Yes	
e. Storage and Warehousing Requirements [Can the storage/ warehousing needs be met considering specific conditions like temperature, humidity, and handling?]	yes	
f. Identified Risk/s [Were there any market risks identified? (e.g., limited suppliers, price volatility)]	NONE	

Prepared by:

Personnel-in-Charge, End-User or Implementing Unit

Rafael Rosario A. Juntilla/ dDRC [Signature over Printed Name] [Position/Designation]

[Date]

Approved by:

Head, End-User or Implementing Unit

Eric E. Sajulga/Head PPESU
[Signature over Printed Name]

[Position/Designation]

[Date]

Page 3 of 3 Market Scoping Checklist

Check (√)	Activity/ies Conducted	Documentation (as may be applicable)
	Review of product or service brochures, marketing materials, industry journals and publications or related materials	Reports / Summaries/ Screenshots / Brochures / Publications/ Online Product Reviews
	Price sourcing for quotations or cost estimates from suppliers, contractors, or consultants	Price quotations/ Canvass sheets/ Online Product Reviews
	Use of data from PhilGEPS or agency websites	Reports / Summaries/ Screenshots, Price quotations/ Canvass sheets/ PhilGEPS Postings/ Online Product Reviews
	Other analogous market scoping activity/ies undertaken:	

Notes:

- The market scoping activities shall be identified and undertaken at the option of the End-User or Implementing Unit based on its needs and objectives.
- ii. The list of supporting documents in the Documentation column is not exclusive and may include other documents that may be gathered by the End-User or Implementing Unit pertinent to the activity/ies conducted.

4. MARKET SCOPING RESULTS

Indicate recommendations in the column provided based on the results of the market scoping activities undertaken. These recommendations shall be considered in the development of a comprehensive and realistic PPMP, taking into account the parameters outlined under Section 10.4 of the IRR of RA 12009, as may be applicable.

Parameters	Considered? (Yes/No/ Not Applicable)	Recommendations based on the Market Scoping (Attach additional documents if necessary)
a. Project Cost Estimate [Does the cost estimate align with current market prices?]	Yes	



MARKET SCOPING CHECKLIST

1. AGENCY INFORMATION

Name of Procuring Entity	General Services Office
End-User/Implementing Unit	Power Plant & Electrical Services Unit
Name & Designation of Representative	Rafael Rosario a. Juntill/ dDRc

2. PROJECT OVERVIEW

Project Name	Electrical Materials & Facilities
Estimated Budget	50, 000.00
Period of Market Scoping [From (mm/yyyy) To (mm/yyyy)]	October, 2025 - November, 2025
Expected Date of Delivery (mm/yyyy)	November, 2025

3. MARKET SCOPING ACTIVITY/IES CONDUCTED (Check all that apply)

This confirms that market scoping activities were conducted in accordance with Section 10 of Republic Act No. 12009 and its Implementing Rules and Regulations (IRR), and considered in the Project Procurement Management Plan, consistent with the Principle of Proportionality.

Check (√)	Activity/ies Conducted	Documentation (as may be applicable)
	Consultations with suppliers / contractors / consultants/ professional associations or industry groups	Highlights of consultations or meetings/ Proof of attendance/ Reports / Summaries/ Screenshots / Brochures / Publications/ Price quotations/ Canvass sheets/ Market Analysis Report or similar document/s
	Participation in summits, fora, or conferences	Highlights of consultations or meetings/ Proof of Attendance/ Reports
	Review of technical, financial, or market/scientific reports	Reports / Summaries/ Screenshots / Brochures / Publications, Market Analysis Report or similar document/ Online Product Reviews